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ورقة عمل 

الرياضيات 

 التناسبات التالية: السؤال الأول:
ّ

أحل

① 
𝑥

7
=

10

35

② 
𝑥 + 3

𝑥 + 5
=

21

27

③ 
𝑥 + 4

5
=

18

30

④ 
10

𝑥 − 3
=

5

𝑥 − 13



 

2 

 

ورقة عمل 

  الرياضيات 

 

 التناسبات التالية: السؤال الأول:
ّ

 أحل

①  
𝑥

7
=

10

35
 

𝑥 × 35

35
=

10 × 7

35
 

𝑥 =
10

5
  ⟹    𝑥 = 2  

② 
𝑥 + 3

𝑥 + 5
=

21

27
 

(𝑥 + 3) × 27 = 21 × (𝑥 + 5) 

27𝑥
−21𝑥

+ 81 = 21𝑥
−21𝑥

+ 105 

6𝑥 + 81
−81

= 105
−81

 

6𝑥

6
=

24

6
     ⟹    𝑥 = 4  

③  
𝑥 + 4

5
=

18

30
 

(𝑥 + 4) × 30 = 18 × 5 

30𝑥 + 120
−120

= 90
−120

 

30

30
𝑥 =

−30

30
     ⟹    𝑥 = −1  

④ 
10

𝑥 − 3
=

5

𝑥 − 13
 

10(𝑥 − 13) = 5(𝑥 − 3) 

10𝑥
−5𝑥

− 130 = 5𝑥
−5𝑥

− 15 

5𝑥 − 130
+130

= − 15
+130

 

5𝑥

5
=

115

5
    ⟹    𝑥 = 23  

 




